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Mathématiques

CORRECTION DE L'EXERCICE E SUR LES CALCULS

A =
358 × 186

273 × 632
=

(7× 5)8 × (2× 32)6

(33)3 × (7× 32)2
=

78 × 58 × 26 × 312

39 × 72 × 34
= 26 × 312−9−4 × 58 × 78−2 = 26 × 3−1 × 58 × 76

B =
95 × 636 × 147

18−1 × 985
=

(32)5 × (7× 32)6 × (2× 7)7

(32 × 2)−1 × (2× 72)5
=

310 × 76 × 312 × 27 × 77

3−2 × 2−1 × 25 × 710
= 27+1−5 × 310+12+2 × 76+7−10

= 23 × 324 × 73

C = 0, 0014 × 42000−3 = (10−3)4 × (2× 3× 7× 103)−3 = 10−12−9 × 2−3 × 3−3 × 7−3

= (2× 5)−21 × 2−3 × 3−3 × 7−3 = 2−21−3 × 3−3 × 5−21 × 7−3 = 2−24 × 3−3 × 5−21 × 7−3

D =
5603 × 11002

0, 00105−2
=

(10× 7× 8)3 × (11× 102)2

(105× 10−5)−2
=

(2× 5× 7× 23)3 × 112 × (2× 5)4

(5× 21× (2× 5)−5)−2

=
24×3 × 53 × 73 × 112 × 24 × 54

5−2 × 7−2 × 3−2 × 210 × 510
=

212+4 × 53+4 × 73 × 112

210 × 3−2 × 5−2+10 × 7−2
= 216−10 × 32 × 57−8 × 73+2 × 112

= 26 × 32 × 5−1 × 75 × 112

E =
0, 00000882

6303
=

(88× 10−7)2

(10× 7× 32)3
=

(23 × 11× 2−7 × 5−7)2

(2× 5)3 × 73 × 36
=

2−4×2 × 5−14 × 112

23 × 53 × 73 × 36

= 2−8−3 × 3−6 × 5−14−3 × 7−3 × 112 = 2−11 × 3−6 × 5−17 × 7−3 × 112

512 = 2× 256 = 22 × 128 = 23 × 64 = 23 × (23)2 = 23+6 = 29 et 243 = 3× 81 = 3× (32)2 = 35.

F = (512× 0, 0000364)3 × (0, 2432 × 905)−1 = (29)3 × (62 × 10−6)12 × (35 × 10−3)−2 × (32 × 10)−5

= 227 × (3× 2)24 × (2× 5)−72 × 3−10 × (2× 5)6 × 3−10 × (2× 5)−5

= 227+24−72+6−5 × 324−10−10 × 5−72+6−5

= 2−20 × 34 × 5−71


